N PRIMARY SHAFT CLUTCH SOLENOID SECONDARY SHAFT TO BE USED FOR LIFTING HYDRAULIC PTO PUMP DRIVE SPECIFICATIONS MGX—6599A  MARINE GEAR SPECIFICATIONS
SEE NOTE B SOLENOID”B” PAD14, PAD15 WIRE CLUTCH SOLENOID MARINE GEAR ONLY WORKING T?Rglﬁ;ggongpt{q‘;os(g,‘i;g) GEAR RATIO 1.34 1.51 1(.74)2.03 2.24 2.48 2.80
SEE NOTE "C” SOLENOID”A” OPERATING SPEED 600~1800 mirt! TOTAL MASS (DRY APPROX. 540 kg
PAD10, PAD11 WIRE [P 1O CAP AT I AFT ROTATION SAME AS ENGINE ROTATION BASIC UNIT (DRY) APPROX. 455 kg
SEQUENCE VALVE ACCEPTS SAE J744 SIZE "C” PUMP MASS INPUT HOUSING 20 kg
) g 710 lop 12/24 INPUT COUPLING AND FLANGE 65 kg
ICIN : WRING OF SOLENOID INPUTS - DISTANCE REQUREDTO "] )‘ INo. oF TEETH 14 TR - — -
o THE OPTICALLY ISOLATED INPUTS 25 304 APPROX. 18 L
© @ REQUIRE A VOLTAGE POTENTIAL REMOVE GEAR PUMP ' SPLINE DATA  |NOMINAL PITCH CIRCLE DIA. __[28.633 CLUTCH OIL 1 2.2~2.4 MPa | ATRATED
0 DIFFERENCE OF 10 VDC MINIMUM, \ / | [PRESS. ANGLE 30° OIL PRESSURE ENGINE SPEED _
o AND A 28 VDC MAXIMUM. GEAR PUMP ASITIsLS 007 LUBE OIL 0.4~0.6 MPa OIL TEMP. 65~70°C
Q @ — I)?EDSEER/%%NSGOLA?CEEX&%OBE (,iAPABLE ! - OOOOé:D TIP DIA. 27.591 8 OIL VISCOSITY SAE #40 (MULTI—GRADE OIL IS NOT APPROVED)
NE—— mA. 000 [ROOT DIA. 31.785 —o. THE FIRST OIL CHANGE AT 100 HOURS OF
QUILET TO SECONDARY SHATT S N ‘ oooc ARC TOOTH SPACE 3.325 78030] OlL & GREASE OPERATION AND SUBSEQUENTLY EVERY 1000
CLUTCH OIL PRESSURE Ny > \ Q000 = 2L $0.0021 CHANGE INTERVAL
/)\3" "M\ L [ AN HOURS OF OPERATION
SEENOTE T4 SEENOTE T4 (LARGE AREA OF CLUTCH PISTON) T\ Do OIL INLET AND BREATHER STRAINER WIRE NETTING
NOTES : M14x1.5 PLUG(ISO—6149 TH'D) ] S SHIFTING SHIFT TO FORWARD OR REVERSE FROM NEUTRAL
A. PROPORTIONAL CONTROL VALVE OPERATION — —
T WARNIG DO NoT CONECT VALVE COL DIRECTLY OUTLET TO CLUTCH | = RESTRICTON ¢\ SPEED LOWER THAN 50% OF THE RATED SPED
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC OIL PRE,SSURE L NAME PLATE HEAT EXCHANGER WATER FLOW (RAW WATER) 80~85 L/min.
- CONTROL SYSTEMS OR MODULES. M14x1.5 PLUG(ISO—6149 TH'D) i TEMPERATURE OF COOLING WATER 32°C  MAX.
7. WITH MANUAL DIRECTIONAL CONTROL VALVE IN P10 COVER o15.7 — NAME PLATE (LUBRICANT) SECTIONAL VIEW DWG 9. e
E a gﬁ/higlg_% r&smom PUSH TO ENGAGE SECONDARY SEQUENCE VALVE 8.5 i I — GEAR PUMP TOOTH WIDTH 44 mm
_NO (WHITE)
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN B € B ~ -
© SCERJJE%E% lecalsmorw, PULL TO ENGAGE PRIMARY OUTLET FOR THERMOMETER BT ZONIROLLER NC (RED) il ERSSS\L/J[;C; SMV::.CZUEEE\]NTT :)O;);:o.’q;; S
(HEAT EXCHANGER INLET i ELECTRIC SELECTOR VALVE C< B = — = .
C. MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH OIL TEMP.) ! A € C (BLACK) BYPASS OPENING AT 0.35 *°%-%f1Pq
"DIRECTIONAL CONTROL VALVE IS IN THE CENTERED M16X1.5 PLUG m : =
POSITION AND OPEN WHEN LEVER IS ACTUATED FROM F OUTLET TO LUBE OIL PRESSURE WIRING DETAIL OF CLOGGING INDICATOR
CENTERED POSITION HEAT EXCHANGER T q $\$ AND LOW PRESSURE ALARM
2. CURRENT = 20 AMPS MAX. ;
3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE — B T, M14x1.5 PLUG(ISO—6149 TH'D) /2 13UNG TAP 90.5F O: 90.5F0-1 5 /8- 1UNG TAP 59138
DRAWING. L g — 200C 26 DEEP 57 o5t Q.45 55+0.1 34 DEEP
CONTROL VALVE (GENERAL PURPOSE VALVE) DISTANCE REQUIRED TO Xe 4 HOLES e > HOLES
REMOVE HEAT EXCHANGER T~ 460 @I co8 o o WARNING PLATE(HOOK) - & /. 3
O -
EMERGENCY BOLT(R1/2 PLUG) INPUT SHAFT DIRECTION \ 620.2 \ \ \ WARNING PLATE e S & " - —
(PRIMARY SHAFT CLUTCH) OF ROTATION \ ( ) of )/ / \\\ o[ [i=22-
DISTANCE REQUIRED TO LO/V N 3
OIL FILTER OUTLET TO PRIMARY SHAFT REMOVE OIL LEVEL GAUGE ZINC STICK FOR ZINC STICK FOR =0 6\ / / \ \ p Jo -
CLUTCH OIL PRESSURE CORROSION PREVENTION MANUAL OVERRIDE SWITCH CORROSION PREVENTION o TT® \ / O N s
CLOGGING INDICATOR (LARGE AREA OF CLUTCH PISTON) DISTANCE REQUIRED T0 CONNECT WIRING , \J B
(FILTER DIFFERENTIAL M14x1.5 PLUG(ISO—6149 TH'D) REMOVE OIL FILTER 2 ’x /\ 13
PRESSURE SWITCH) " - / OIL LEVEL GAUGE 5 ¥ :-j O ] 1
- | 4
OIL DRAIN PLUG FOR ' \}’@ ' U(f);) 24_, . _ 573.2 _ (OVERALL LENGTH 560) DETAIL OF PTO MOUNT ;. r[ B
OIL FILTER(R1/2) 148 SAE J744 SIZE "C” (scale 1: 3)
TIGHTENING TORQUE ( )
I

68.6 N.m OUTLET COOLING WATER INLET _ =
05 AND OUTLET FLANGE / o
SENSOR OF INPUT SPEED S 083 /] T
|+ Q03030 0O ° YT
+ |+ o) CENTER OF GRAVITY N o S a ] 19— 417 THRU
' S50 <l < 28 C'BORE 23 DEEP
< _ P RUBBER HOSE 0000 < = 77 @
,\'\ . L e oo off db 5000 Wl 25+ FROM OPPOSITE SIDE
OQUTLET TO SECONDARY 0| o o 000 nl < EQ.SPACED
SHAFT CLUTCH RN - ’. o — Q \ L GRS 2 & ’
OIL PRESSURE [ . 0000 Nf AD
000
(SMALL AREA OF ™ o2 = 1ol 1 8 RIS o I Ny 16—g14
CLUTCH PISTON) S| — 7 OG0 ol o5l o5l
(IS0-6145 THD) S I N ! ] 0060 S < TS PLAIN WASHERS HAVE TO
= ) & 11| IS} ™ ~_21p S N BE_ PROVIDED
0 e+ o, © - \%?—O i RS 13 0| ©
CENTER OF GRAVITY St ;. : = - 2 . % = = oS
« v 20 INLET N[ - o 220.28%DRILL THRU
AV - o 3 & ' & 1ZHOES N 5 . 17
—f] A4 N
l 2 © o L Y j‘\ ————— |  VL3411S EQ. SPACED
EMERGENCY BOLT(R1/2 PLUG) / T - J O . © U )4 T 01\1_
(SECONDARY SHAFT CLUTCH) | Bl \) ! q —
170H0.020N |_25 0| 00f ol 1
O O = =
MAIN PUMP STRAINER = | R — (RERM) - SRR E,
- / Nl Q 8l | ®
GREASE NIPPLE W/ ® | —
P \\ \\ \\ ] DISTANCE REQUIRED T( . RO.4
OUTPUT SHAFT DIRECTION f P REMOVE STRAINER 2-20 REAM 20 DEEP DETALL OF QUTPUT FLANGE
© < (BOTH SIDES)
OF ROTATION WITH / i N o (e e e 2ot
PRIMARY SHAFT CLUTCH _ 21.2 _ OIL DRAIN PLUG FOR 7 &
/ / yd HEAT EXCHANGER(R3/8) P 89 105 \6 20x0.5 THD. 43 DEEP ME TRIC
( L TIGHTENING TORQUE 49 N. 448 126 = = y 0 e
OIL DRAIN FLANGE , 226 l 226 CLUTCH OIL PRESSURE \ (BOTH SIDES) _ VATERIEL.— J5=83760 TS AT T SIMILAR TO
o1 244 244\ | o1 | (SMALL AREA OF CLUTCH PISTON) AFTER LOCATING DRACKETS W PINS FOR MOUNTING UNIT OLORANFLNGE . COOLNGWATERIMETAND OUIETAMGE [ 7_ 40500 AA
DRAIN PLUG WITH MAGNET \ '\ M14x1.5 PLUG(ISO—6149 TH'D)
(R3/8) < 340 _ 340 | \TRAILING PUMP NOTICE! THIS PRINT CONTAINS MATERIAL WASS W ® | UNLESS OTHERWISE SPECIFIED DATE
- DIMENSIONS ARE mm 141212
TIGHTENING TORQUE 49 N.m \ SR ANES O AT D : K| | e bzl TOI N DISE
DETRIMENTAL TO THE INTERESTS OF X.X 0.25 1: 5 RACNE, W 53403 — USA
GREASE DRAIN PLUG TRAILING PUMP TWIN DISC, INCORPORATED [[EAT TREAT [FReTUSE AL ANGULAR TOLER Art £ DRN. -
RACINE, W1 53403 — USA _ [oos. MGy amaqa | SEUETRC TERMONS — A-ishil
THIS NOTICE IS NOT INTENDED ——— N ) A.Kawakam{P> __ —
s TS AR CENERAL VIEW - /2O 11—
Rev | BY APPD. REV | zonE | cH. No. DATE REV | zonE | cH. NoO. DATE OR OTHERS BY CONTRACT. A.Kowokomﬂ SHEET 1 OF 1 REV___
F E D C B | A

AlT




